Pacminpennas tabnuiia HHTETpaioB

I.Jsinax~sinbde= sin(a—b)x _s1n(a+b)x’ a% %b2,
2(a—b) 2(a+b)
2. jcosax-cosbxdx= sin(a—b)x + sm(a+b)x, 2.p2.
2(a—-b) 2(a+b)
3. Isin&x-cosbxdx=—cos(a+b)x _cos(a—b)x’ aZ #b?.
2(a+b) 2(a—h)
4. Ix-sinbx-dx=L-sinbx—§-cosbx.
b2 b
. 2.2
5. J‘Xz-sinbx-dX:zx'SmbX—b X _Zcosbx.
b2 b3
2,2 1203
6. jx3 -sinbx-dx=3bx—65inbx+Mcosbx.
b* b3
7 Ix-sinsz~dx—ﬁ—X.Sinsz—cosmx
‘ 4 4b 8h2
8. Ix-sinbx~sincx-dx=l 2‘cos(b—c)x+ X sin(b—c)x -
2| (b—c) —-C
—bXCsin(b+C)X}, b2 =c2.
+
9.
2.2
10. J‘chosbx~dx=2X'COSbX+b X _2-sinbx.
b2 b3
2,2 2,2
11. IX3cosbx-dx=3bx—6005bx+u-sinbx.
b* b3
2 )
12. IX-cosz bXdX=X—+X'Sm2bX+cossz.
4 48 8p2
13.J‘Xcosbx-coscx~dX=l 2cos(b—c)x+ X sin(b—C)x +
2 (b—c) -C

+

cos(b+c)x+ X sin(b+C)X}, b2 #c2.
b+c

(b+c)?

sin(b+c)x— X cos(b+c)x+
b+c

14. J‘X-sinbx-coscx-dX:l{
2

(b+c)?

+

X
in(b—c)x—
sin( ) .

3 cos(b—c)x |, b2 #c2.
(b—c) -¢

(b+c)?
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ax
jeax-sinbx-dX: 3 2(asinbx—bcosbx).
a“+b
ax
jeax-sinsz-dx: P
a“+4b
ax ax
_£ ¢ (Ecos2bx+bsin2bx).

2a a2 14p? 2

2

(a-sin2 bX—2bcosz-sinbx+£) =
a

a-cos(b—c)x+(b—c)-sin(b-c)x

e X
Ieax-sinbx-sincx-dx= 5

_a-cos(b+)x+(b+c)-sin(b+c)x
a2 +(b+c)2 '

Ieax-cosbx-dX:

eax eax

Ieax~cosz bx-dx =

+
2a a2 44p? 2

a2+(b—c)2

ax

> 2(acosbx+bsinbx).
a“+b

X 2 3b2

> 2(acos bx —2b-cosbx-sinbx+—) =
a“ +4b a
(Ecos 2bx + bsin 2bx) .

paX
Ieax -cosbx-coscx-dx = 5

. acos(b—c)x+(b—c)sin(b—c)x}

a2 +(b

—C)2

Ieax~sinbx-coscx-dx=

ac0s(b+c)x+(b+c)sin(b+c)x N
a?+ (b+ c)2

e (asin(b+c)x—(b+c)cos(b+c)x .

2 L a%+(+c)?

X asin(b—c)x—(b—c)cos(b—c)x}

a2+(b

.jshax-sinbx~dx=
.jshax-cosbx-dX:
.jchax-sinbx-dx:

.Ichax-cosbx~dX=

jx-eax-dx:eax[

—C)2

Ieax-sinbx-cosbx-dX:

ax

[a-sin2bx —2bcos2bx].

2a2 +8b2

aZ +b?

8.2+b2

a“+b

X 1

a a

2

a2+b2

___j_

chax-sinbx—

chax-cosbx —

shax-sinbx —

shax-cosbx —

aZ +b?

az-irb2

a“+b

a2+b2

shax-cosbx.

shax-sinbx.

chax-cosbx.

chax-sinbx.
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3

2 2,2
sze"’mdx—ea"((x——g 2]_ax 28X +2 ax.

a a2 33 a

3

a a2 33

a4

2 3.3 2.2
X 3X 6X a“x” —3a“x“ +6ax—-6
jx3eax-dx=eax[ _Jz oy

ax 2 2
IX-eaX-Sian-dX: 2e 5 ax—a2 b2 -sinbx—(bx—%}cosbx.
a“+b a“+b a“+b

ax 2 2
.jx~eax-cosbx~dx= 2e 3 ax—a2 b2 cosbx+(bx—22Lb2jsinbx )
a“+b a“+b a“+b

coshx T

o0
IﬁdX=—-e_ab, [a>0,b>0]; [Rea>0].
Oa + X 2a

o0 .
X - sin bx T _ab
2,2 2 ’

[a>0,b>0]; [Rea>0].

Oa + X

0

J

—0o0

a” +X

—bxi \ab\

dx=".¢ , [a>0].
a

oJosin bx T

0

Isin ax-cos(bx+c)-dx=—
_[cos ax-cos(bx+c)-dx =

* x-sinbx _n_b
(x2 +a2)2 4a

I s1n bX

.Ix

dx=—, 0, —E, ectt b>0,b=0, b<0.
X 2 2

cos(ax+hbx+c) cos(@x—bx-c)
2(a+b) 2(a—h)

sin(ax—bx—c) sin(ax+bx+ c)

2(a—b) 2(a+b)

; a#tb; aZ #b?.

ax+b; a2 #b?.

dx="2.e78 [a>0,b>0].

=t

3

2
-sin bx dx—x—— LN ! sm2bx—icos2bx
6 [4b gp3 4h?

3 2
. Ixz -cos2 bx - dx —%+[X——L}m2bx—%cos2bx

Jx*
Jx*

4o gp3 4b

-sinbx - dx :%(4b2x3 —24x)sinbx—is(b4x4 ~12b%x? +24)cosbx.
b b

-cosbx - dx = (4b2 3 _24x)coshx + — (b4 4 _12b%x2 +24)sinbx.
b* b>

Isin3 3x-sin X -dx =$[605in2x—30sin4x—55in8x+4sin10x] .

jcos3 3X-cosX-dx :$[60sin2x+30sin4x+5sin8x+4sin10x] .
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46. J'sin3 3X-cosX-dx :ﬁ[—600052x—300054x+55in8x+4sin10X] =

4

=2—75in x—18sin® x +18sin® X—gsinlox =L(3—4sin2 X)5 —1(3—4sin2 X)4.
4 5 160 128

47. Icos3 3X-sin X - dx =$[600052X—30cos4x+5c038X—4coleX] =

220054 x—18cos® x +18cos® X—gcoslox =L(3—4cos2 X)5 —i(3—4cos2 X)4.
4 5 160 128
y ¥ o X ax
48. [x-e® sin(bx+c)- dx = ————"sin(bx+Cc +¢) - -sin(bX + ¢ + 29),
2 2 2 n2
Va“© +b a“+b
SINQ = ————— coscp—L
a’ +b? vaZ +b?
ax ax
ax X-€
49.jx-e -cos(bX+C)-dx = ———="cos(bx+Cc+¢)— -cos(bx+cC+20).
2 .2 2 K2
va“+b a“+b

50.jx-ﬂnx-dx:aichax—ulishax.

a a
2
51. sz-shx-dx= X—+i chax—%shax.
a g3 a2

52. Ix3 -shx-dx:£x3 +1Jchax—(ix2 +£]shax.

3.2 a a3

53.jx-chx~dx:nishax—ugzchax.

a a
2
54.jx2-chx-dx= 2£—+~£L shax—~25~x-chax.
a g3 a2

55.jx3-chx-dx:(x3+~£LJshax—[§x2-+1i)chax.

a’ a ad



